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BT

BEZ| %8 it SR G =] HE E—rE UP%
9:40 HEX-BEEHEIE -BHERN
STV
10:00 1 |CHRE 1RFE SR 54 5 35
2 [ 1#REK 1RFE SR 15 2 10
3 |2 =7 IB#kEk 1RFE CR 14 2 10
4 | =7 IARE 1RFE CR 19 2 12
5 |CHE 2RTFE SR 35 3 18
PZ =N
11:04 6 | =7 ICHik R SR 7 1 6
7 L7 M BfREL R CR 10 1 6
8 |T=T7IMAfREL R CR 12 1 6
9 |C#Ek IRTE SR 18 2 12
10 | =7 0 B#Ek R SCR 12 1 6
11 |V =7 D ARE HE R B SCR 5 1 5
12 | 1#kEK R SR 10 1 6
13 |[CHhEk R SCR 12 1 6
14 |EF RS SCR 8 1 8
A28 —IN)L
12:02 15 | =7 CHE REE SR 6 1 B 15z
16 | =7 B#HKEk R CR 6 1 JIE L
17 | =7 MASREL R CR 6 1 B 45z
18 |2 =7 I B&REE R SCR 6 1 g {5z
19 [ =7 I AfhEk REE SCR 5 1 g 45z
20 | 1#RER REE SR 6 1 JIE 432
21 |CH#REk RBE SCR 6 1 JIE 32
22 |EFHHF REE SCR 8 1 JIE L
12:50 STUOREN-BE
AAE—R 5
13:40 BERETE-BHELAN
13:50 23 |CH#RiEk 1RFE TF 82 7 54
24 | 1E#RER 1RFE TF 36 3 24
25 | =—F7IICHHE 1RFE TF 20 2 12
A23—I\)L
14:45 26 |2 =7 Bk 1RF = WT 29 3 18
27 | =7 IMA#RE 1RTE WT 35 3 24
28 |CHREL 2R FE TF 54 5 36
29 | =7 NB#iEk 1RFE WTF 21 2 12
30 | =7 DA#RE 1RFE WTF 22 2 12
A23—I\)L
15:58 31 [1#RE 2R TE TF 24 2 12
32 |CHREL IRFE TF 36 3 24
33 | =7 IB#KEk 2R FE WT 18 2 12
34 | =—TFIMA#RE 2RFE WT 24 2 12
35 |[CHREL ARFE TF 24 2 12
36 |HEFH 1RFE TF 16 2 12
A2B3—IN)L
16:59 37 | =7 ICHKE; R TF 12 1 6
38 |[L=—7IB#KE: RS WT 12 1 6
39 [P=F7IARE: R WT 12 1 6
40 [P =7 I B#REL HE R B WTF 12 1 6
4 |[P=T7 I AHKE R WTF 12 1 6
42 |1k R TF 12 1 6
43 |CHRER RS WTF 12 1 6
44  |EFT R WTF 12 1 6
A28 —IN)L
17:49 45 [ Z—7MC#HEk R TF 6 1 JIE L
46 | =7 B R WT 6 1 JIEfZ
47 [P =T IMA#REK REE WT 6 1 g {5z
48 |2 =7 I BfkEk REE WTF 6 1 g 5z
49 | =7 I A#RES REE WTF 6 1 JIE {22
50 | 1#RER RBE TF 6 1 JIE 32
51 |CHREL REE WTF 6 1 JIE L
52 |HFHF R WTF 6 1 Nz
18:37 R —RRER
18:57 EiE=




